[(ZEEH ]G FENEEEMBOMRR VFRNTERICEYIREMREEIENT
42 L= X BT+ 7Bl D g8 B #R#6 3
XEMEEOR1HEER

MEFES I hXETAT 44 Hh g & = AR e 2k (BEAL : A
< [H 8,193
dtiEE 153
B[R AL 7
B[R B R T 1
B[R /T 0
B[Rl N1 0
B[R B il 0
JeigE FIEE T 47
B[Rl NG 0
e B[z 20
JeigE A aETH 0
B[R o AR 0
JeigE £ 0
B[R AT 0
B[Rl /NP 0
JeigE HEPN T 0
E[RI3E EE0H 1
B[Rl E R 0
B[R LR 1
B[R R 1
JeigE Bl 0
JeigE R 0
B[Rl 4 F 0
B[Rl — A 0
JeigE R 0
B[R Tk 2
e eIt 1
e b1 1
B[R BENT 0
B[R I 0
B[R =0 Ladit 0
B[R Eeillie 0
B[R HEm 0
B[R i 0
E[RI3E R E 0
B[Rl aEhH 1
B[R B aii 1
B[Rl 2 BIHT 0
B[Rl BTG EEAT 0
B[Rl FA T 0
E[RL3E & T 0
B[R TN BT 0
B[Rl A NHT 0
E[RI3E CARET 0
E[RI3E JEE SR 0
deyE FRHT 0
B[Rl J\ZERT 0
B[Rl £ 7 BRIy 0
B[Rl JLZERT 0
JeigE AL 0
B[Rl JEJRERHT 2
B[Rl CE T 1
deyE BT 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
B[Rl AT 0
e R ZN] 0
B[Rl B 0
B[R FALHT 5
e SR NHT 0
B[Rl Rk T 0
dbifE =t aHy 0
B[Rl BEERT 0
B[R HEAAT 0
E[RI3E = R T 0
E[RI3E FARET 0
JeigE (B 22 By 0
JeigE LFRmET 0
B[R e T 0
B[Rl {AAT 0
e RN 0
B[Rl R PHET 0
E[RI3E HOERT 0
B[Rl {RHT 0
E[RI3E ENi) 0
E[RI3E IR AT 0
B[R P IEHT 0
E[RI3E ZRIETHT 0
B[R D) IHT 0
E[RI3E EE ) 0
B[R 80T 0
B[R EAIN) 10
E[RI3E HIEHT 0
E[RI3E =Ll 0
B[Rl eI 0
JeigE RS AEHT 0
B[Rl FRAQBIHT 0
B[R SN 0
B[Rl JreEhT 0
E[RI3E W T 0
B[Rl JEEATHT 6
B[R TR BT 0
B[R 2 JpRHT 0
B[Rl AR T 0
deE [T 0
JeigE | JITHT 1
B[Rl L) 5
IRl E=d 0
deyE & BT 0
B[R e BT 0
E[RI3E P & KT 0
B[Rl b AT 0
JeigE FHZEmT 0
B[R R HT 6
Ela73 IV L
IRl ES70) 1
E[RL3E ST IR 0
JeyE G 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
B[Rl 0PN T 0
E[RI3E HE T 0
JeigE /N 0
B[R 5 HITHT 1
B[Rl JIMEHT 0
B[Rl B LLBIAT 0
B[R 1o I [T 0
B[Rl KT 0
B[R IR 0
E[RI3E Ll 1y 0
i o E 1T 0
B[Rl B EHT 0
B[R B2 0
B[R FLSTHT 0
B[Rl F LT 0
B[R FI & EHT 0
B[Rl IEAERT 1
E[RI3E e 0
B[Rl FERIHT 0
E[RI3E BT 0
E[RI3E I LT 1
B[R /NEAKET 0
E[RI3E - FRT 0
B[R i T 0
E[RI3E 15 A T 0
B[R o BT 0
B[Rl B I HT 0
E[RI3E i T 0
E[RI3E HILES T 1
B[Rl e B AT 0
JeigE I T 0
JeigE K ZEHT 0
B[R R 0
B[Rl AT 0
E[RI3E EEA 2
B[Rl JE LT 1
B[R TR ERIIHT 3
B[R aail 1
B[Rl Fo73 O HT 0
deE H & T 1
B[R SEEUHT 0
B[Rl BT 0
IRl JHRT T 0
deyE e 0
B[R Z 0 HHT 0
E[RI3E O 7T 0
B[Rl o BT 0
B[Rl T HT 0
B[R T 0
E t{ﬁﬁ rbiﬁEﬁT 0
IRl BT 0
E[RL3E 5K T 2
JeyE TEEET 3




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES HXETA 4 Hh g 5E = AR feh 2k (BEAE : [ 4E)
e th AL AT 0
E[RI3E SIS 2
deigE KABHHT 0
B[R TN 0
] E?’g% i;%u [ 0
AtifgE L T 2
B[R N 0
] E?’g% ENGILN 0
AeifEaE JeEFHT 0
E[RI3E =N 0
A TR 0
B[Rl HIEEHT 0
B[R JE T 0
B[R JeHp T 0
e FECHT 0
B[R 2R - Jm T 0
deigE BEJER 5
b b 0
B[Rl [T 3
deigE HATE T 2
e LT 0
B[R =L 0
JeEE PR 0
dbigE 1Ak 0
e R AIAT 0
deigE R RIAT 0
- i 0
dbifgE NS 0
TR 78
AR il 14
T AR I SLAIH 1
T AR I NG 3
AR HoAT 10
B AR )R 1
R T T 7
B = |
AR SN AT 3
o o 2
EE M| 1
e o 1
B FR brs & 1A 0
AR A& o PHT 1
B AR i o JRHT 0
AR EIRHT 0
B AR EEEEYS 0
H IR n\\% 0
B AR H & REAT 0
Eﬁﬁ AR AT 0
i e 5
AR Bp) T 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

_ MEFES _ T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
R + 7T 0
B AR ST 0
AR R 0
AR G E[d0) 7
B AR S BTk 0
B AR B S HHT 2
lj%zﬁ/ﬁ\ Nl 0
AR HOmAS 2
AR R JEVER AT 0
£ L — 0
B kRS — 0
B AR T HT 1
AR FH W] 0
AR R T R T 0
AR L |-HT 19
%ﬁé HARES 0
=FE 202
=T SR T 12
IR = 3
= TR KARPETH 4
IR Pt 27
=T b Ei 16
=T I AT 8
=R e B 11
=T —Ba 33
=T Bl g 1 11
=R e 8
= R RN 0
IR J\IE - 12
IR B T 30
=R GRUNIE] 11
= R EALNT 2
= TR AR 0
= R = T 0
e SRR HT 1
= R R IIHT 0
IR G RO T 0
= R 4 /7 IRE T 0
= R AR 0
=R £ AT 5
= 5 piNEL 1
= R L1 FH HT 0
= 5 e SR T 6
IR EESZER) 0
=T LA 0
= R KT 0
=T B A 0
= R UNELD] 1
%ié FEEFHT 0
=R — T 0
= 127
=R fili & 9
BRI PeE it 19




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

=T MEFES e T XETH 44 Hh 358 B HH 8 2 (B4 F{K)
B Ik IR He AR T 0
BRI SAlE T 8
R HAT 11
IR 4 B 0
BRI £ [ 0
BRI ZE T 1
BRI F R cehitl 1
BRI Bk 21
BRI R 1
BRI RIS 8
BRI pNaiE 7
IR BAam 5
BRI ik EHT 0
B R o 11T 9
BRI AT T 0
BRI EEL 0
BRI LE T 0
BRI )1 iz HT 1
BRI SLARHT 8
BRI IEREL) 5
BRI (L e T 0
BRI NEL) 0
= R o MY 0
BRI FFHT 0
B R NGt 0
BRI RAFHT 0
BRI KAkS 0
BRI £0 JpRHT 0
=R NZERT 4
o o 2
=R ) 4
=R )1 HT 0
ﬁﬁ% g — [elT 3
A I8 141
K H R KT 7
K H IR et 5
K H IR i 35
FKH I KEETH 1
FKH I BT 0
FKH I GRi 23
K H IR AT 36
FKH I HAIATE T 1
FKH I B 1
FKH I KAl 12
FKH I LRk 2
AKX H R WZHNEHT 0
K R fildeTs 9
K R /NI T 0
K R /N AT 2
KEE %%m 1
X HH I — FEHT 1
K HH R INCI 0
FKH I Tl H W] 2




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

#ERFRA T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
K H I INEELN 0
FKH I T 0
FKH I KIEFS 0
FKH I ES {0 0
FKH I P T 2
FKH I BB 1
A 108
AN A 1
A KR 0
L IR ] 43
A 1 H 2
IS HET 0
AR YL 3
L IR I 10
AN AT 0
IR il 6
AN KE T 0
AR AR 0
AR FEACIR T 2
AR F b 1
AR (L1320 | 0
AR LT 3
AR IDE[A] 0
AR L) 0
AN sl H WY 0
AN RILHT 0
AR KA1 HET 0
A 4 1 LIET 1
AR i FHT 3
AR FHERT 3
AR EEIIL 0
AR ENE 20 0
AR fif ) 11 #F 0
AR JIRES 0
AR i T 0
AR JI PEHT 7
AR ANESLE 4
AR H JEERT 6
AR A 0
AR —JI[mT 0
AR JE NI 7
AR Wi By 6
=2ER 123
& e I & 2
& e IR SHE T 7
& e IR AR L 2
& e I Wb 6
& e I HiRl 0
& e I )T 0
& e I = Yl 3
& e I FEETTH 0
& e I —REATH 2
& e I FH AT 12




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

[CRET AAEMEFE IS IT

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
i e I FEAEET 13
i IR GrEh 29
R A 1
i e I SYTHT 4
i e I EZL 0
i e I JI{RET 2
i e I REFT 0
i e I $E T 0
i e I KARAT 1
i e I AT 0
i e I FE R IR A 0
& e I H LT 0
i e I P 2 T 0
i e I e EAT 0
& e I P T 2
fi e I AR 0
i e I T I 1
i e I ST 7
i e I LN 0
& e IR I 0
& e I — BT 0
i e I ENIL) 0
& e I REFOAS 0
i e I SHEENT 1
& e I eSS 0
& e I SRIFE AT 0
i e I Hh A 2
& e I RWKHT 0
i e I e T 0
i e I RAESHT 0
i e I HE T 0
i e I LN 0
& e I A 1T 6
i e I ESIESH 0
i e I A A 0
i e I S 0
i e I T 10
& e I —ARHT 7
& e I /NEF T 0
& e I Jis BT 0
i I FRBERT 0
& e I & [ W] 1
i I JITNAS 0
i I KAEHT 0
i I MHERT 1
& e IR JRILET 0
i e I BJEAT 0
& R ST T 0
i e I AREE AT 1
RIg R 89
IR KT 1
R ENAG 3
R ERGLN 1




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
RIR I et Wi 0
RIRI A T 0
TR et AiEl 0
IR BE 7 IR T 13
TR TFEh 0
RIR I s 0
RO i e K 1
TR IR EFK T 3
IR L7y 0
IR AR TH 0
TR BF 0
RIR I YN 8
R S Eh 0
RO OB 1
TR IR JEEWE T 20
RIR I Wk 0
IR SFATH 10
RIRI wbERE T 0
RIRI %mﬁ 0
PRI i 3
TR ﬁﬁﬁ 2
TR IR T 0
RIR I AN D Hifi 0
RIR I BT 5
RIR I FiA T 2
IR 115 0
RIRI FR 0
IR DO EA LW 1
RIR I NEET 12
RIR I IRYRHET 0
R RYEmT 1
R I HL T 1
IR WA 0
IR K1-HT 0
R LA 0
RIR I Pr] BT 1
IR {A] PN T 0
IR JUTARET 0
IR TLESHT 0
R BEHT 0
R FIARHT 0
mARE 545
B A IR FECE 56
B A I JEFIH 1
B A I MiA 13
B A IR i 5
B A I EE 17
i A I HY¢h 9
B A IR AN 244
AR i 132
B A I N 1
i A I RARTH 33
N ARZEH R 15




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

— MEFES §<BL$BWH% Hh gk 8 = KR A 2 (B 4L : F4K)
N i 1
P A AR S T 1
N TEH 0
Ei% ﬁzmm 2
i A . I W] 0
A UE: 53 0
gﬁg %EE 0
i A I FENT 0
N T+ HT 2
N P ORHT 0
i A I A HT 11
i A I B AR R ET 0
FiA I ARZEHT 2
ngﬁkir HREJ I H] 0
HER 88
HER IR HiAG 20
HER IR IRy 0
HER IR i A T 1
HER IR FHER T 0
HER IR KHTH 1
e IR HH 4
e IR fEAR T 5
e IR #)I 9
R IR Ji o] T 18
R I I i 11
e IR 27 0
e IR HED T 2
e IR AT 0
HER IR 5 [ W] 0
HER IR B A 0
HER IR AT 0
HER IR IRSEL 2
HER IR P PR 0
HER IR S0 0
HER IR b2 SR 7
HER IR =07 T 0
HER IR SN 0
HER IR ELEEHT 0
HER IR i AT 0
= i 0
Ry Ui S 0
HER IR JI5RE 0
e IR AEFOAT 0
HER IR I T2 IR BT 2
e IR AR 1
e IR FoE T 0
e IR BH F AT 3
HEE IR TAR AT 0
HER IR KIRHT 1
ﬁ%% XS 1
FEE 224
2 E IR - E 0
BRI JIBk T 13




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES i XETF 4 Hh 358 B HH 8 2 (B4 F{K)
Ty IR RERTH 30
B E IR I B 0
i B 1THTH 17
i B AT 1
B E IR ik i 10
5B fRBE TH 11
B 15 nZaEr 4
B E I KET 0
5B AT 0
BER KHET 0
BER el 1
5B PET 1
B E IR PR 0
BER ERT 0
iy E I R 0
Ty IR EVIGE 2
Ty IR [ 13
BER Bk 11T 6
BER = 1
B E IR NG 10
By E E HEE ™ 3
iy £ I mARTH 46
B E I Foyem 0
By £ I AT 4
e il 0
5B J&=4ii 0
BER AT 8
B E IH J\ A 2
5B (=R it 3
HBER — 4 0
BER SE T 0
By IR it 6
B I sET 0
BER B BT 8
By IR HEh 1
BER i 1
Iy & S U A BT 1
5B H [if] 7 0
BER JHAsmT 6
BER —5HT 0
B E R EST=1iL) 2
5B A HT 2
BER 1 IHT 0
R JEl LT 0
ER /N ITHT 0
ER )1 WY 0
B E R & AT 0
By IR M LT 0
5B & X N bHT 1
B E R R T 0
ER EEEFHT 0
BER J=S il 1
2R IR /)N B HT 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
B I SR !
By £ 5, FHHT 0
BER i) 11 0
By - HLHT 0
B E I ZJEHT 0
B E IR ‘B ARHET 1
By IR, kil 1
B EIH FAORIET 0
FER 255
THEIR TIEH 11
TR Bk 0
TR il 0
TR AAETH 25
TR fiF (L 1
TR AFET 13
TR A TH 0
THEIR B H 17 3
TR SRR 7
TR J% H i 0
THEIR e 10
THER i 12
TR JETH 0
TR HERTH 16
TR Jichitl 20
T3 [P TRITH 6
THEIR R 66
TR Pl 2
TER AT 0
TR Ffa 6
TER L 5
TR [ Yo 0
T PERedin] 1
T Re il 0
TR 2T 0
TR VAR T 1
TR il T 7
TR J\Hr 1
FIER, ENEL 0
TR EEiaii 5
TER =LA 0
T3 e e 6
TR i 0
T3 FHT 23
TR LT 3
TER VWA 0
TR PN CI=LEN 2
TR 1P 4 JERT 0
TER ST 0
TR Aol 0
TER el 1
TR HOERT 0
TER JL+-JUHLHT 0
TER ST 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
TZER BRZ LT 0
TR —'=HHT 0
TR [N 1
TR E/ER 0
TR ERa 0
TR K ARHT 0
TR KR 0
TR KL =N 0
TR (R 1
TR P g T 0
E Gl 191
HORER TRHEX 0
HORER WX 0
AR HEX 0
AR s X 0
HORER SCRUX 4
HORER B HX 0
HORER SEHX 0
AR LR X 0
HORER IS 0
AR HERX 22
AR KHX 0
AR HHAX 0
HORER EERX 0
AR HREP X 0
HORER KR X 0
AR BEX 23
R ElES 1
AR X 1
HORER BAE X 0
BHUAD TS X 0
AR JE N X 0
HORER X 1
HORER L)X 2
R J\E A1 0
HORER ST 0
HORER R B 0
AR —JET 7
HRUAD BT 0
AR A 24
HORER =T 8
HORER FAArH 0
AR NG 12
AR /N FETH 0
HORER NETH 0
AR EE AN 28
HORER HAF L 1
HORER [ 5y =F il 4
HORER B 0
AR wAT 0
AR AL 0
AR SN 2
R TE MR T 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

i) 1

2L}

MEFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
HORER WA KT 0
HORER AT LT 1
AR ZEET 44
HORER g i 2
HORER PR 2
HORER HE HHH 0
HORER [EE SN 0
HORER B fE AT 2
AR H o HHT 0
AR R 0
HORHR L2 R T 0
HORER KT 0
HORER FE R 0
HORER R 0
HORER fE AT 0
AR —EH 0
HORER R B AT 0
AR J\SCHT 0
AR B BT 0
HORER /N JEURS 0
#HEJIE 126
FpA) 1 IR i 0
fpA) 1 IR )1l T 0
FpA) 1 IR FEARR 2
31 AT 14
fpA) 1] IR T 0
fpA) 1] IR S-ai 0
FpA) 1 IR JERIR T 0
31 /INH R 26
)1 ot 7 kg il 25
)1 EAh 4
31 — i 0
FpA) 1] IR E i 12
)1 JEAR T 2
31 Nt 0
31 FHEME T 0
31 BEE4T 22
f 31 JER 0
f 31 P AR T 0
31 FE MR T 7
31 BE[L T 0
) 1] I EINED ]
fe 2 ) 1] I RBERT 2
fe 2 ) 1] I —EHT 1
fe 2 ) 1] I T 0
fe 2 ) 1] I RIFHT 1
fe 2 ) 1] I # FHIFT 0
fe 2 ) 1] I E[AD) 0
fe 2 ) 1] I B BT 5
fe 2 ) 1] I AR AR T 0
fe 2 ) 1] I ELEBHT 2
fe 2 ) 1] I U] JE T 0
i 5




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

MEFES T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)

FA) 1] IR ilIES 0
HaE 282
Bk I i 110
ik I R[] i 6
R —5m 8
R IR 7 27
Bk I M 5
Bk I N 4
Bk I g 0
R + HHETH 6
ik I LBt 11
Bk I M B 19
ik I e 9
Bk I keI 4
Bk I W 4
B hiR T 0
R i 24
Bk I Fr] 2 87 7 0
ik I T 0
Bk I fadh 16
Bk I rARET 13
ik I HE PN 9
ik I HOEEmT 0
ik I TNERS 0
ik I B 0
Bk I BEE 1
Bk I H ZE I T 0
R LR T 0
ik I T 5
R MIERES 0
Bk I EIESH 1
Bk I B IHRS 0
=SE 136
& LR =L 11
&= LR 5 ] T 54
& LR ok 14
& R K /L 18
= eI 0
= B 1
= Al 2 2
= /INRER T 1
= LR FA Al T 31
= oK 0
= FHAE R 0
= LR TR 0
= LR VAL 2
= LR N 0
= IR 2
AIIE 57
)11 AR 0
A IR LT 15
)11 /A TH 9
)11 i =5 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
)1 BRI 1
£ It 1
)1 PIVETH 0
)1 HEL T 0
)1 =G 28
£ HEETH 1
£ B 2 i T 0
£ JIER) 0
£ iR T 1
)1 PNEERT 0
)1 AR T 1
£ F KA 0
£ HHHERC T 0
I FOKHT 0
)1 HEECHT 0
BEHE 82
& F I fEF 26
& I FEH 3
& I /NEETH 12
& I PN il 1
& I W5 L 1
& I fi L 2
& I bbb 4
& I ki 18
& I ST 4
& I K-SR 1
& I . FH T 0
& I T i iy 1
& I R HITHT 5
& I B3] 0
& I e e lT 3
& I BT 0
& I S 1
WEE 18
e, HRF T 0
EE, & LE WM 0
(L AL akemiin 0
(LA ESi 0
T, KA 1
EE, JEIG T 1
EE, B 7 V7 AT 3
EE, bt 1
EE, T 1
EE, N 0
EE, BT 2
EE, BN 0
ETE, i 0
EE, =) 1
EE, HIHT 0
EE, By JIERT 2
EE, T B T 1
EE, (==L 2
EE, REFnET 2




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

et MEFES g T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)
7ll</ N L;m\ M 0
(L AL VAT 0
(L AL DEFRE 0
(L AL NEREER) 0
(L AL SRS 0
(L AL & ] ST 0
(L AL NERE 0
E?% PHEE LR 1

7R 265
B IR % 32
KB IR NI 84
KB IR I 13
E R EENE 21
B IR A 24
B IR REHTH 0
B IR YT 1
E PR /NEETH 0
£yl Gk 0
5B IR B o AR T 0
E R LA 1
B IR KHAT T 1
E PR i L 8
IR B 10
iR YR 10
EBIE e 0
5By 5 Tl 0
£ 97 5 EXini 5
ER e 0
EFE /NIRRT 0
E R JI] EAT 0
5B IH T BOkS 1
5B IH FAFEAKS 0
B IR JEFEART 0
E IR (NG 0
EFIE SR T 0
EFIR AR T 1
EIE SEEHET 0
5B IR BAK 0
B IR S FnHT 0
E PR TERELHT 0
EBR & AT 0
5By IR JEAT 3
E PR S EFHT 0
E PR F ] 0
E PR A S HT 4
EBIR BTN 13
B R RE 0
B IR ‘= AT 0
E%ﬁ FA I 0
37 5 i ARHT 0
E ¥R W%M 0
5By I DEEER) 8
B SERFT 0




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

T MEFES e T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
I DR 0
EiE AT 1
£ B IR FEAKT 0
KBy 5 KEEAS 0
EiE REFR 0
KBy 5 BARKT 1
B IR A 0
EiE EN 0
KBy - ARET 3
KBy N 0
KBy 5 ARAHAS 0
B IR ERCU0 0
B IR REFE 0
KBy AREEHT 0
5By 5 PR AT 0
EiE LR 0
KBy 1z 0
B IR %H# 1
EiE G 0
KBy 5 mmm 0
EiE INIIES] 14
B IR HEH 0
KBy N 0
KBy I Yz T 1
KBy /INAf Jita BT 0
EiE e LAY 0
B IR (L / PNHT 2
EiE A EAS 0
KBy 5 PR VR R AT 0
EiE [EIERT 2
KBy ANIIES) 0
KBy 5 A5HI T 0
ﬁﬁé SRS 0

! 227
g7 . I 57 . 17 44
etz BRI R T 6
g7 B U &l 20
Iz B R, E2 i 14
Iz B IR, B 15
IRt B2 U HhE) 1T 14
IRt B2 U EXET 0
IRt B2 U EiR 7
IRt B2 U PET 11
IRt B2 U HEIR 13
IRt B2 U EEILTH 7
IRt B2 U ERC AN 0
IRt B2 U, BB R 0
u&ﬁlﬂ% T/u m 1
7 B IR, (R 1
IRt FR. U i T 5
g7 . 2 FREBE 0
IRt B U AR 0
Iz B IR, Bl 1




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES HXETA 4 Hh g 5E = AR feh 2k (BEAE : [ 4E)
IRtz FR. U = 4
T SE i) 1
gt B2 U 57 e T 33
gt B U SEAAHT 0
IRt FR. U Al 6
IRt FR. U AT 7
T B8 7 JU T 1
IRtz B2 U fH T 4
T i 2 PNHT 0
etz B2 U 7 )\ T 0
g7 . I $EZE)I[HT 0
IRt B2 U K EFHT 0
IRt FR. U . FH T 0
IRt B2 U B[] 0
IRt B U i 1
et FR. U BT 0
IRt B2 U JI T 0
IRt B2 U L oHT 2
IRt FR. U INEREHN 0
gt B2 U ENIL 0
T HAJIAT 0
et FR. U Al S W T 9
g7 FR. U ENIESS 0
EEdnl 201
i o] U2, Fe ] 2
B of] U ek 17
B of] U Bt 38
i o] U2, 2 0
i o] U2, — & 2
i o] U2, RN 0
i o] U2, G 0
i o] U2, Ehi 2
B of] I (s 26
B o] I A T 23
i o] U2, BEETH 0
i o] U2, I 32
i ] IR R 11
i o] U2, ST 0
i o] U2, W 5
B of] I T HH 0
i o] U, AT 0
B of] I 96 0
i o] U, Fa 9
i o] U, PRI T 5
B of] I 49) 11T 11
i o] U, F I OEH 1
i o] U, Bz 5 10
B of] I RO EHT 0
i o] U2, {AlELHT 0
B of] I EEEEA) 0
B of] I N L 0
i o] U2, e T 0
i o] U2, B FE T 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

HE TR B

X4 %

th 125188 5 L Ak 2 (s - (A1 4K)

i ] Uk

i ] Uk

i ] Uk

i ] Uk

i ] Uk

i ] Uik

ZHE

N
(=2}

B U

=

olo|loI—|o|lo|o|o

A I

B U

B U

B U

B U

B U

a2} ol 5 i

o Y o Y e e
#dl [N =iy A—HEHU

=

B U

~—

— Do \\}
(e) few) [S2 ] [o2] | \] [o>] [en]

B U

[\
(e}

B U

i GO oy e e Y Sl

(e}

B U

<
=

(e}

B U

Jaa] i i

o A o A e e

DN
Ne)

B U

T

X
e

(e}

B U

—_
—_

B U

[N}

B U

2]

B U

2 U

IR

2 U

IR

A

I

PN

A U

FNZT

I

ATET ST ST ST AT d‘l d‘l ]‘l ATET ST ST =TT

N T

B U

pun)

JE R NB

B U

=T

B U

AT

B U

A

B U

B3

B U

H AL

B U

arI=rl=rl=r=T ==

AT

B U

{EH2ET

SRR

E kil

B U

NE T

B U

A X L

B U

bHET

B U

A Fili

B U

SUFRET

B U

AL

B U

N T

B U

REMT

B U

KIGHT

B U

BT HT

SRR

IS4

B

B A EEHT

(=] [e>) [eo] [JV]) [an) [FV] [an) fan) |\ O] IoN) fan)l fan) [an) [l EaN] (e Eol Lol £==) (S0 [l k=) [N O] [« [\ O] [an) [aw) R Fan) | \G)




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)
=R FRRHT 0
SR ESEA0) 23
SR S HT 0
SR o BT 20
=R SE H T 0
SR B T 0
SR ST 1
5 0 I RS 0
=5E 246
—HEIE N 2
—HIR EEEGE 0
—EIE N 36
—HR FABR T 43
—EIH 4 18
— R $ARE T 28
—HIR LT 20
— R EET 0
— R gl 22
—HIR ISEEhi 0
—HIR RERF T 18
—HR VAR T 0
—HR ST 0
—HR Ca=tiil 39
— R K B T 0
—HR HEHT 0
—HIR FIEPHT 0
— H IR sl H WY 0
—HEIE JEET0) 0
— R Ll 0
—HIR B oy 8
—HIR y=all 0
—HIR AT 1
—HR JESHT 10
— R FACHT 0
—EIE P AT 1
—HEIE FodLmT 0
—EIH () 0
—HEIE e 0
HBEE 153
= Kt 16
A= AR 5
o B8 I i 24
= Vi) i i 12
= LR 18
= SEIL T 0
= ES i 9
A= AT 25
A= BN 8
A= WA 7
A= =it 6
s 8 I . RlmaN;] 14
A= KR 1
Jad 8 I H EFHT 2




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

_ MEFFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
{z\z’fﬁ 7 EHT 0
A I R 2
K SHRRT 0
a8 = 1
mEB AT 81
SUASEE AR T 4
SRR e A LT 6
SUARIE BERETH 7
SUAR FEER T 5
SUAD Eatistitl 2
SUAbIE ERe i 4
SUAD b 0
SR B 0
SUAD i) H i 0
SUAD K 5t 0
SUAD J\ i T 6
SUAb AL 2
SUADE HOPHE 22
SUAbI F T 12
SUARIE AT 0
SUADE NI 0
AN T 4
SUARIE IR H T 0
SUAD A 0
SUADE ) 0
SUAb I WGEED] 2
SUARIEE Fi LR 2
SUAD SUPHEHT 0
SUAb FHRHT 0
i%ﬁ 5.5 EFHT 3

T 612

bi S 0
NI kit 0
KB Nkl 9
PN T 10
KIERF NI 0
PN SR 1
PN T 0
PN HE&Eh 0
KB SFHTH 15
KB o5 0
KB KA 52
KB NER 28
PN SRR 0
PN & AT 2
PN BT 23
KIRIF N E BT 11
PN FAJER T 0
PN N il 4
PN i 17




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)
NS F 1
NS Jislstiil 0
NI PR BT 14
NS EEGH 6
NS HE 0
PN AT 34
NS PR 5
NS F NN 3
PN SRETH 33
N DU {6 8% 0
N B 9
PN KRBT 3
PN PR pE T 1
PN EEN] 0
PN BaE 3
N HESAT 1
N YL [ 0
PN RE BT 0
N HH J T 1
N T 0
NI KAHT 0
N {A] g T 0
PN T ARBkRT 0
EEE 334
S IR [N 1
S IR MR T 2
S J I JENRy T 1
S J B A 28
S I NN 3
S I PIATH 0
S I EE 0
S i [EiERRiil 17
S IR AT 0
S i R AL 29
S IR )i 6
S IR JREETH 1
S IR VT 4
S ER 20
S i I — K 10
S IR kb 1
S IR )1 P8 T 14
S IR N 10
S IR — W 20
S IR e 10
S IR PHEE LT 19
S IR ER 18
S IR PHE 25
S IR Fdbb L 21
S IR LIPS 11
S IR R 1
S IR REETH 2
S IR R 10
T Jif IR 7=-o>DOTh 11




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES HXETA 4 Hh g 5E = AR feh 2k (BEAE : [ 4E)
S Jof I 2L 7
S i R el 0
S IR FRERT 0
S IR FREERNT 0
S Jif I ) 11T 2
JLJiE R e I T 0
FLJiE R ARl 7
JLJiE R KA-HT 0
S Ji I - ARET 4
JLJiE R 172 T 13
JLJiE R HENT 1
FLJiE R TR SR T 5
=RE 66
ZRE ZRH 12
EZRE KFns Hh 1
ZRE KFnER LT 0
KRR KILH 1
AR e 5 0
REIE il 0
AR Fifi 0
AR P 7
KRR AEB T 2
AR v 0
AR 2 i 0
AER e 22
ZRE LLFRAT 2
ZRE SERERT 0
ZRIE — AT 0
ZRIE BEASHT 0
ZRE e aul 0
AR JIPEHT 0
AR — W] 0
ZRE FGEND) 0
AR B AT 0
ZRE AT 0
ZRE e BT 1
AR BEERE) 0
ZRIE =y 0
AR T TR lT 0
AR LT 1
ZRE A HT 0
ZRE 5 BFHT 4
AR KIERT 0
ZRE AT 0
ZRE HyEAT 0
AR KK 1
ZRIE ESSENIES) 0
ZRE 1314+ 7
AR eSS 1
ZRIE B[RS 2
ZRIE JII AT 1
AR AT 1
MFLE 70




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)
Rk L IR B 4
Rk L IR Y 25
FagR L IR AT 2
B AHHH 1
Rk L IR (e 0
Rk L IR FH 6
B e 1
Rk L R Fooo)ll 0
B Eeaiahin 0
FOaK LR Fo S5 BPHT 6
Rk L IR N5 X W] 5
Rk L IR JUEE LT 0
B e By T 1
Foak LR el 1
B J) Y 1
FagR L IR A HJIHT 3
Fagk L IR S EHT 2
Rk L IR EN=LN 0
FOak LR o ST 0
B EIELD 2
B Fr 75 ~HT 1
FagR L IR ER=IL 2
B ENEI 1
B =& AT 1
Rk L IR 9 I AHT 0
FOak L AR W5 R T 2
FagR Ly IR A HBET 0
Foak LR o JEE ) 1T 1
B B[S 0
FagR L IR HRACHT 2
EBNE 99
S5 U Sl 28
5 U K 4
5 U =il 14
5 U Bk 5
5 U e ST 0
S5 U T 0
5 U AR MY 5
5 U INCEL S 12
5 U — =T 6
S5 U G AL T 1
S5 U ZE T 3
5 U e HT 1
S5 U EER-=0) 0
S U KILHT 10
S U T B T 7
S U [EE=1 1
S5 U H T 0
5 U EE) 2
5 U TLRFET 0
EHRE 166
AR IR KATL 6
AR IR el 41




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)

R HEH 0
R IR S 20
R KHETH 8
R IR e din 8
R IR JARE Aisl 20
R IR Erg 30
AR IR P 9
R IR £ i 5
BRI JIASHT 1
R IR eSS 13
I AR IR EXEEL 1
EEE %@%m 1
5 = 2
AR IR Vg 1R 0
R IR I 0
AR IR FRAT 0
ﬁﬁt Flz oD B BT 1
] L2 333
fif] 1L UR: fif] [ L1 7 95
fif] 1L UR: ey il 52
fif] 111 UR: iESIIGN 15
[ 1Ly P ELagatl 6
fif] 1L UR: A T 25
fif] 1L UR: R 12
fif] 111 UR: il 17
fif] 111 UR: e 14
fif] 1L UR: A 27
fif] 1L UR: fi ai 3
fif] 1L UR: W N 1
fi] 1 U IR T 1
fif] 1L UR: B 12
fif] 1L UR: EEM 7
[if] | R e ANNiN 0
EEE ﬁém 10
i LT 0
fif] 1L UR: LT 0
fif] 1L UR: KT 3
fif] 1L UR: HER 0
fif] 1L UR: S BT HT 12
%EE [P - T 1
i Z ﬂ‘é—ﬂam 5
fif] 1L UR: EES=X 2
o . 4
[ 6
Egé 2 i S ET 3
LEE 312
Jis B IR JRE T 42
Ji B IR Sl 26
PNEI PR 17
S b — J T 0
Jis B IR G 1
Jis e IR &L 79
Jis 5 I SR 2




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES i XETF 4 Hh 358 B HH 8 2 (B4 F{K)

Jis 5 IR =R/ 19
Jis 5 IR JE R 22
Js e I Ky 36
Jis 5 IR RN T 5
Js e IR HHmH 28
Js 5 IR et 15
NS JLH T 0
Js 5 IR JF T 0
Jis e IR 1 HH T 0
EEE ?%m 0
IN=YR Yy W] 0
Jis 5 IR 72 K H WY 2
Jis 5 IR E[NEL 0
Jis 5 IR Ky = S HT 1
Jis 5 IR HRERT 13
NS A T 4
=]} 126
=G TRITH 17
(e T 24
EES =k 22
= i 3
E Bh 2
EE Thath 1
EDE iﬁﬁ 0
B i 9
E EMh 7
i=pss W 11
(R e 4
=R JE T 2
EE (L1 B55 /)N B 1 T 11
IE): GV ENET 1
E FOAHT 0
(o R - BART 0
(e FH A i W] 3
= SEAEET 6
ﬁéé AT T 3
mEE 60
il 5 IR, e 33
R e P T 0
R NN 1
R Br] B T 2
R SR I 3
R Baf 3z T 0
%Eﬁ e 7
T H =t 0
e I IV I T 1
R - JEHT 0
%Eﬁ PSR NS 1
i B IR LeEiaul 0
R A LT 0
%EE %%m 1
il 5 IR, ARG AT 0
IR LRI 4




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
R YERG T 7
T IR, FA ST 0
T IR E[A=10) 0
T IR BE T 0
1R S I F BT 0
1R I AR AT 0
%E\E/Z\ 7% XK 0
1R I A UHT 0
%m% - 85
2l AT 44
75 I JLfa T 18
75 I Yy tH 1
)1 R S et 0
ﬁjllﬁ ééﬁ%%ﬁ 0
A1 1. ¥ X T 0
7)1 GO el 7
7)1 — B 7
7)1 - FERT 0
2l /N EHT 3
)1 — KT 1
)1 ENEL 0
51 AT 0
H l 21N g"lﬂT 0
7)1 % i T 0
é?% * A D HHT 0
ERE 99
e IR NI 31
i I AT 0
R RS 0
R J\ g T 2
i I et 1
i I [EESin 6
i I KN 1
I F¥i 2
i I EEES 13
g i 27
i I R T 4
i I IR=10) 2
i I AT e JE T 6
i I FA T 0
%?E ﬁ%m 2
g S-HT 1
i I {F 5T 0
e IR Fs Bp T 0
i I BARRT 0
i I T 1
SHEE 70
T 0 R BT 3
T 0 R = 2
5 R i 1
5 R e [E T 1
T 0 R R 0




[(SEEH L6 FRET thishBEE 1B D 2B R U7

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

XESM6E9A1HEFR

MEFES T XETH 44 Hh gk 8 = KR A 2 (B 4L : F4K)
e Jn ZAIR T 4
) 15 B 2
R RN 1
T 0 IR P 1
T 0 IR i 2
T 0 R EEH 3
R LR 1
R Z3 R 1
T 0 R RERD 1
T 0 R 22 T 2
R E[AIIESH 0
T 0 R 55 AT 1
T 0 R SPERE 1
T 0 R ENII) 2
T 0 R N 5
T 0 R +-{fHT 4
R KJIAT 1
T 0 R WORT 2
T 0 R =) 1 HT 2
1 0 R Hp AT 3
T 0 R 122 ) 11T 4
T 0 R kT 1
e Jn T 6
T 0 R H &kt 1
T 0 R a0 3
T 0 R Py s +-HT 3
T 0 R K HHT 1
T 0 R —JRkE 1
T 0 R T 4
f2E R 252
e o] Dk E[ @R 0
i o] D e ] T 0
e [it] U RAEHM 4
e [it] U N8 K rhi 46
i o] D ENaii 2
e [it] U i 12
e o] Dk )11 0
e o] D IS 2
e o] Dk I\ i 0
e o] Dk FLET 9
e o] Dk KT 1
e o] Dk (ki 0
e [it] U Bt 11
e o] Dk W R T 6
e o] Dk /NEBTH 8
i o] Dk HERETH 7
e [it] U KEH 0
i o] Dk REPW T 4
e o] Dk N 12
i o] Dk KSEFTT 0
e o] Dk AT 6
e o] Dk fEEEt B
e [it] U I =% 11




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

— MEFES hXETAT 44 Hh 358 B HH 8 2 (B4 F{K)
7 [i6] VL AT 0
i o] Dk i 0
1 [if] U i 17
= T 0
2 [ I SR 4
i o] D BRE) 1] 7 1
1 [if] U FEMT 5
A& [it] U T ENT 3
F%% %@m 0
2 [if] UL JHIH 3
oAE S ;
i o] D I LT 0
e o] Dk F =T 0
i o] D Jal =) 0
A& [it] U JKAE T 24
1 [if] U REEL 5
1 ] Uik o T 23
FE% /NPT 0
g [of] JR, iy T 0
i [if] U I HT 0
e i) Uk HLATHT 1
8 [if] U RS 0
FE% ﬁﬁ%m 4
5 i T 3
e o] Dk NI 0
8 [if] U AT 1
e o] Dk VRHHT 0
8 [if] U ENEL 0
e o] D )1l T 0
- HE 0
= o] I, Tk 0
R AT 0
e o] D Xij T 0
e o] Dk I Z HT 1
i o] Dk TR 1
i [if] U - EHT 1
e [it] U S -HT 1
HZEER 100
18 I T 31
PR R [ERein 15
P I S5t 8
P I 2t 1
P I T 16
P IR WA AN 9
PR JE B 6
P I sINB T 1
P I e BF 7
P IR T 0
Egg Eﬁ&im 1
A 1F S [LTHT 2
e IR T 1
P I TS0 X MT 0
P IR AN 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

T MEFES — T XETH £ mﬁﬁﬁﬁﬁﬁ@%tﬂﬁ%
SN
R JHTHT 0
Egﬁz g:itET 0
R A HT 2
Eﬁg K EHT 0
I8 170
RlR; R Kl 45
RlR; R PR 29
FlR; R Syt 1
Rl T 6
RlR; R NN 8
RlR; R P T 14
FlR; R FATH T 10
RlR; R *HETH 1
RlR; R el 15
RlR; IR T 13
RlR; R vaE T 1
RlR; R IS 0
= o 3
ay I 5
RlR; IR FpELHT 11
RlR; IR AT 1
RlR; IR JH T 0
RlR; R P e LT 1
RlR; IR /MBS T 0
RlR; R e % BT 5
E%% o F R 1
REERIE 150
REA IR REAR T 0
REAR JUKTT 22
REA IR i 22
REAR R 12
REAR KR 0
FEEN E4TH 0
REA L e 1
REAN IH 2 . TH 0
REAR it 0
REAR o RE 0
FEEN Fhm 1
REA IR Bl fak T 0
FEEN KET 51
ﬁ?z:% /%\Eﬁ 7
REAS IR EHHT 1
REAR ES L) 1
REAIE 7 BEHT 0
REA R K UNET 0
REA R ﬁgm 0
REAR REEHT 0
REA IR 2 b5 T 0
REAIE EUNELD 0
REAR ANESL) 0
REAR PE LLRT 1
HEA IR S ARET 0




(SZEM]THOFEMNMBEZMBOMAKRVEFRNTER ICEYIRAEMAREZIENT
42 L= X BT+ 75l D th g8 B #E#83

XESM6E9A1HEFR

MEFES T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)

N 7E R 0
REAIE T FA] g A 0
REAR mgm 0
REA IR S 0
REAR T HT 0
REAR FHAERT 0
REAR LIS HT 28
REAR KT 0
REAR J=EInil] 0
REA IR ﬁ%ﬁm 0
REAR HRHT 0
REA IR % BOKHT 0
REA IR AL 0
REAR K A 0
REAR FHEAT 0
REAR TR 0
REA IR (LA 1
REAIR ERBERT 1
REA IR HI Xy 0
ﬁﬁzz@ 25 JEHT 1
SR 129
Ko I Koy 23
Ko I BT 8
N HhEET 2
N HHH 3
N X [ELN 8
AN FIAFT 18
N HA LT 1
Ko I T H T 5
Ko I B E 1
Koy IR FEEE T 10
Nl et 19
Nl PN il 10
Koo A 4
Ko I EE 7
N = AT 1
Ko I H HHT 1
Ko I JLERT 4
k@é IAERHT 4
=I5 120
= I I IRy T 56
= I I Ak 15
= I I L[] 1
= I I Hrah 9
B Iy I /KT 9
= I I H e 4
= IRy U Eing 5
= I I [IEEis) 7
= I I Z XD 4
EE& zgm 0
= Iy I T 0
= I I ] & W] 0
B Iy I FEHT 0




BT

XESM6E9A1HEFR

th 125188 5 L Ak 2 (s - (A1 4K)

B oREHREE]

~

338
79
9
1
0
3
1
2
10
48
27
11

[(SEEH T FET thishEE B0 iR Ok EE|

142 L f=h R BT J5I 0D 31 12058 = #R s 2

INal

&

S 1B K{E

hea ey = ey B = O O = O O =~ O HElEl B = B = |FEE = =

e e oy Py Py ey w2 R R i i = i A i e B Q45 B v ad S5 ey =y =y o=y 5 omy (NS N R v =y e e =
5 {0 K = SRR (N 4 (RIS [RREN efit rfs O U NE K= (S O B | B K S o < i R L BBV
e e s e O o [ e 0 e e e 1 ) e i g - i e 2 I

INal

g

=

i

Ee

) ) iy iy g S S S 5 3 3 S S S
IO e i i e i R 2 2 o 2 B 2 2 ol B

EHE(E|E|E[E[E|E e E e e K| m2|m2| m2| 2| m2 o2 m2|m2{m2m2| m2| o2 m2 o2 w2 m2 w2 m2 o2 m2| 2| m2 o2 m2| m2| 2| m2fm2| 2| o2 m o2 m2| m2| 2| ;2o m2
pc Bl e Bl s Sien S Siso S B o 36n G i e G 3R G i G e G 36h AR GE i i e e e A GE 3 A




[(SEEM]TMEFE g8 E Mo 2 B R V7S

142 L f=h R BT J5I 0D 31 12058 = #R s 2

BICEATARAEMREZEIZHSLT

X4EH6FoA 1A A
Sa— MEFES — T XETH £ Hh gk 8 = KR A 2 (B 4L : F4K)
BT i P 0
JE IR S IR JAINEL 0

e I

i S 0
iR 35
T I AR 18
TP IR HEA T 0
TR R AEH 0
Yr e D RS 0
T I LT 1
T I i 0
T IR PP 0
T I B Rk 0
T IR )5 Fh 0
T I i e 1
T I FE 3 0
T I [EBAFT 0
i r:% ,Z\ ;{%%H 0
JH e L £ 0
T I i 0
T I ARKEBET 0
TR I BT 0
T I ‘B AT 0
TR I AT 0
i r:% ,Z\ T jﬁ 0
TR I SAF 0
JH e R S T ANET 0
TR I bl 0
TR I e HhgAT 0
bk r:%/z\ ;ET)%JZH 0
TR I UHT 10
TR I 5T 0
TR I g LT 4
TR I 8 5230k 0
TR I EAGIERR 0
TR I S [E] 0
TR I 4 =h) 0
T R BN 0
TR I JERHART 0
TR I =4 0
TR I FE4 5t 0
TR I K BT 0
T IR J\ EEMT 0
TR I % FLIAE 1
TR I e BT 0
TR I 5K ERT 0




